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	   19万－9万 =
	770＋230 =
	  0.12×100 =
	300×6 =
	4500÷9 =

	34＋48 =
	710－30 =
	57＋26 =
	  0.6×100 =
	90÷100 =

	 EQ \F(2,10) ＋  EQ \F(5,10) =
	42－26 =
	 EQ \F(3,5) ＋  EQ \F(1,5) =
	 EQ \F(3,8) ＋  EQ \F(5,8) =
	 EQ \F(1,4) ＋  EQ \F(3,4) =

	950－60 =
	630÷90 =
	8.4÷100 =
	  210－150 =
	45＋29 =

	720÷20 =
	280＋630 =
	340＋200 =
	 430＋68 =
	7700÷11 =

	3.74×10 =
	900－580 =
	9a－6a =
	90÷15 =
	    9÷100×1000=

	5x＋4 x=
	563÷10000 =
	100×0.18 =
	 56.3÷10 =
	420＋580 =

	0.07÷10 =
	530－80 =
	x＋2x =
	 720－140 =
	720÷80 =

	15y－10y
	10×0.63 =
	87－29 =
	     34×7＋34×3 =
	 59×9＋59 =

	80＋750 =
	51－37 =
	   10000×0.75 =
	0÷60 =
	600×800 =

	180×4 =
	28.9÷1000 =
	7y＋3 y=
	    0.005×1000 =
	 1000×2.1 =

	 230×300 =
	6×25 =
	  1800÷300 =
	  3600÷90 =
	0.5×100 =

	 16.5÷100 =
	2b＋7b =
	460＋90 =
	72 =
	 750－260 =

	110×600 =
	7.2×100 =
	 280＋630 =
	 80＋550 =
	  900÷1000 =

	 EQ \F(7,8) －  EQ \F(4,8) =
	1 －  EQ \F(2,7) =
	 EQ \F(2,3) －  EQ \F(1,3) =
	 EQ \F(2,5) ＋  EQ \F(2,5) =
	 EQ \F(1,6) ＋  EQ \F(5,6)  =

	0.4×100 =
	102 =
	42  =
	 30×270 =
	    36亿－18亿 =

	 8800÷800 =
	360＋240 =
	 3500÷700 =
	4x－2x =
	320÷80 =

	40×50 =
	9.2÷100 =
	   0.5×100÷10 =
	     61万－25万 =
	30×700 =

	40÷1000 =
	13×300 =
	1000×3.2 =
	     37÷100×100 =
	   89亿－49亿 =

	   57万＋13万 =
	0.68÷10 =
	  253－17－83 =
	40×50 =
	660÷11 =


